
 

SB4115H/SB4115N/SB4116HM/SB4116HN 

DRILL PRESS 

Betriebsanleitung und 
Sicherheitshinweise vor 
Erstinbetriebnahme lesen 
und beachten! 

Read the operation manual 
carefully before first use. 

Ausgabe/Edition: 13.01.2014 – Revision 02 –CEC- EN 

EN USER MANUAL DRILL PRESS 

SB4116HN 

SB4115H 

SB4115N 

SB4116HM 



INHALT /INDEX 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 2 

STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN

1 INHALT /INDEX 

2 VORWORT 5 

3 SICHERHEITSZEICHEN / SAFETY SIGNS 6 

4 TECHNIK 9 

4.1 Komponenten ...................................................................................................... 9 

4.2 Technische Daten .............................................................................................. 10 

5 SICHERHEIT 11 

5.1 Bestimmungsmäßige Verwendung .................................................................... 11 

5.1.1 Arbeitsbedingungen ...................................................................................... 11 

5.1.2 Unzulässige Verwendung ............................................................................... 11 

5.2 Sicherheitshinweise .......................................................................................... 12 

5.3 Restrisiken ........................................................................................................ 14 

6 MONTAGE 15 

6.1 Vorbereitende Tätigkeiten ................................................................................. 15 

6.1.1 Lieferumfang ................................................................................................ 15 

6.1.1 Der Arbeitsplatz ............................................................................................ 15 

6.1.1 Transport / Ausladen der Maschine ................................................................. 15 

6.1.1 Vorbereitung der Oberflächen ......................................................................... 15 

6.2 Montage der zum Transport abmontieren Teile ................................................. 16 

6.3 Elektrischer Anschluss ....................................................................................... 17 

7 BETRIEB 18 

7.1 Betriebshinweise ............................................................................................... 18 

7.2 Einstellungen ..................................................................................................... 19 

7.3 Bedienung ......................................................................................................... 20 

7.3.1 Drehzahl ...................................................................................................... 20 

7.3.2 Tisch ........................................................................................................... 21 

7.3.3 Bohrtiefe ..................................................................................................... 21 

8 WARTUNG 22 

8.1 Instandhaltung und Wartungsplan .................................................................... 22 

8.2 Reinigung .......................................................................................................... 23 

8.3 Entsorgung ........................................................................................................ 23 

9 FEHLERBEHEBUNG 24 



INHALT /INDEX 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 3 

STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN

10 PREFACE 25 

11 TECHNIC 26 

11.1 Components .................................................................................................. 26 

11.2 Technical Details ........................................................................................... 27 

12 SAFETY 28 

12.1 Intended Use................................................................................................. 28 

12.1.1 Ambient conditions ................................................................................... 28 

12.1.2 Prohibited use ......................................................................................... 28 

12.2 Security instructions ..................................................................................... 29 

12.3 Remaining risk factors .................................................................................. 31 

13 ASSEMBLY 32 

13.1 Preparatory activities .................................................................................... 32 

13.1.1 Delivery content ...................................................................................... 32 

13.1.2 Workplace requirements ........................................................................... 32 

13.1.3 Transport ................................................................................................ 32 

13.1.4 Preperation of the surface ......................................................................... 32 

13.2 Assembly ....................................................................................................... 33 

13.3 Power supply ................................................................................................ 34 

14 OPERATION 35 

14.1 Operation instructions................................................................................... 35 

14.2 Adjustment ................................................................................................... 36 

14.3 Operation ...................................................................................................... 37 

14.3.1 Spindle speed .......................................................................................... 37 

14.3.2 Table ...................................................................................................... 38 

14.3.3 Boring depth ........................................................................................... 38 

15 MAINTENANCE 39 

15.1 Maintenance plan .......................................................................................... 39 

15.2 Cleaning ........................................................................................................ 39 

15.3 Disposal ........................................................................................................ 39 

16 TROUBLE SHOOTING 40 

17 ERSATZTEILE / SPARE PARTS 41 

17.1 Ersatzteilbestellung / spare parts order........................................................ 41 

17.2 SB4115H ....................................................................................................... 42 



INHALT /INDEX 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 4 

STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN

17.3 SB 4115N ...................................................................................................... 45 

17.4 SB4116HM, SB4116HN .................................................................................. 48 

18 KONFORMITÄTSERKLÄRUNG/CERTIFICATE OF CONFORMITY 53 

19 GARANTIEERKLÄRUNG 54 

20 GUARANTEE TERMS 55 

21 PRODUKTBEOBACHTUNG 56 



SICHERHEITSZEICHEN / SAFETY SIGNS 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 6 

STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN

3 SICHERHEITSZEICHEN / SAFETY SIGNS 

DE SICHERHEITSZEICHEN  

BEDEUTUNG DER SYMBOLE 

EN SAFETY SIGNS 

DEFINITION OF SYMBOLS 

DE WARNUNG! Beachten Sie die Sicherheitssymbole! Die 
Nichtbeachtung der Vorschriften und Hinweise zum Einsatz des 
Erdbohrers kann zu schweren Personenschäden und tödliche 
Gefahren mit sich bringen. 

EN ATTENTION! Ignoring the safety signs and warnings applied 
on the machine as well as ignoring the security and operating 
instructions can cause serious injuries and even lead to death. 

DE ANLEITUNG LESEN! Lesen Sie die Betriebs- und 
Wartungsanleitung Ihrer Maschine aufmerksam durch und 
machen Sie sich mit den Bedienelementen der Maschine gut 
vertraut um die Maschine ordnungsgemäß zu bedienen und so 
Schäden an Mensch und Maschine vorzubeugen. 

EN READ THE MANUAL! Read the user and maintenance 

manual carefully and get familiar with the controls n order to 
use the machine correctly and to avoid injuries and machine 
defects. 

DE SCHUTZAUSRÜSTUNG! Das Tragen von Gehörschutz und 

Schutzbrille ist Pflicht. 

EN PROTECTIVE CLOTHING! The operator is obligated to 

wear proper ear protection, safety goggles and gloves. 

DE CE-KONFORM: Dieses Produkt entspricht den EG-Richtlinien 

EN EC-CONFORM: This product complies with EC-directives 

DE Nur geschultes Personal! 

EN Only trained staff! 

 

DE Gefährliche elektrische Spannung! 

EN High voltage! 



SICHERHEITSZEICHEN / SAFETY SIGNS 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 7 

STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN

 DE Bedienung mit Schmuck verboten! 

EN Operation with jewelry forbidden! 

DE Bedienung mit Krawatte verboten! 

EN Operation with tie forbidden! 

DE Bedienung mit offenem Haar verboten! 

EN Operation with long hair forbidden! 

DE Maschine vor Wartung und Pausen ausschalten 
und Netzstecker ziehen! 

EN Stop and pull out the power plug before any 
break and engine maintenance! 

DE Warnung vor Schnittverletzungen! 

EN Warning about cut injuries! 

DE Warnung vor rotierenden Teilen! 

EN Warning of rotating parts! 

DE Vor Nässe schützen! 

EN Protect from moisture! 

DE Allgemeiner Hinweis 

EN General note 



SICHERHEITSZEICHEN / SAFETY SIGNS 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 8 

STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN

DE Nicht auf die Maschine klettern! 

EN Do not climb onto the machine! 

DE Sicherheitsabstand einhalten! 

EN Keep safety distance! 

DE Warnung vor wegschleudernden Teilen! 

EN Warning against thrown-off items! 



PREFACE 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 25 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

10 PREFACE 

Dear Customer! 
 

This manual contains information and important instructions for the installation and correct use of 

the drill press SB4115H/SB4115N/SB4116HM/SB4116HN. 

Following the usual commercial name of the device (see cover) is substituted in this manual with 

the name "machine". 

This manual is part of the product and shall not be stored separately from the product. Save it for 

later reference and if you let other people use the product, add this instruction manual to the 

product. 

 

Please read and obey the security instructions! 

Before first use read this manual carefully. It eases the correct use of the product and 

prevents misunderstanding and damages of product and the user’s health. 

 

 

 

Due to constant advancements in product design construction pictures and content may diverse 

slightly. However, if you discover any errors, inform us please. 

Technical specifications are subject to changes! 

 
Please check the product contents immediately after receipt for any eventual transport 
damage or missing parts.  

Claims from transport damage or missing parts must be placed immediately after initial 
product receipt and unpacking before putting the product into operation. 

Please understand that later claims cannot be accepted anymore. 

 
 
Copyright  

© 2013 

This document is protected by international copyright law. Any unauthorized duplication, 

translation or use of pictures, illustrations or text of this manual will be pursued by law. 

Court of jurisdiction is the Landesgericht Linz or the competent court for 4170 Haslach, Austria! 

 

 

 

CUSTOMER SERVICE CONTACT 
 

 

HOLZMANN MASCHINEN GmbH 

 

A-4170 Haslach, Marktplatz 4 
Tel 0043 7289 71562 - 0 
Fax 0043 7289 71562 – 4 

info@holzmann-maschinen.at 

 



TECHNIC 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 26 

STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN

11 TECHNIC 

This user manual was wrote for more machines. At this point SB4116HN is representative for all 
models described. Small deviations from the other models are possible. 

11.1 Components 

No. Specification No. Specification 

1 Base 9 Motor 

2 Fixing screw table 10 Tightening handle (motor) 

3 Release lever 11 Scale drilling depht 

4 Table 12 Handle 

5 Column 13 Scale angle of table 

6 Drill chuck 14 Handle 

7 On/Off/emergency-unit 15 Motor pulley 

8 Pulley cover 16 Safety-switch pulley cover 



TECHNIC 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 27 

STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN

11.2 Technical Details 

Specification SB 4115H SB 4115N SB 4116HM SB 4116HN 

Voltage V/Hz 230(400)/50 230(400)/50 230(400)/50 230(400)/50 

Motor power W(S6) 400 600 600 600 

Spindle travel mm 60 60 80 80 

Spindle holder Type MT2 MT2 MT2 MT2 

Chuck Type B16/3-16mm B16/3-16mm B16/3-16mm B16/3-16mm 

Speed range min-1
210-2580 180-2740 180-2740 180-2740 

Range quantity Anzahl 12 12 12 12 

Distance spindle to column mm 125 127 165 165 

max. distance chuck-table mm 810 235 430 670 

max. distance chuck-base mm 1180 355 630 1180 

Table dimensions mm Ø 250 190x200  254x254 254x254 

Pivoting range table ° ±45° ±45° ±45° ±45° 

Total height mm 1500 850 990 1630 

Base dimensions mm 410x240 170x160 456x280 456*280 

Weight kg 51 27 45 51 

Further features of the machine: 

 Solid, bolished base with T-nuts

 Aluminium motor according IP54

 Torsion-resistant, solid and polished steel column

 Tiltable worktsable

 Spindle protection cover

 Adjustable drill depht



SAFETY 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 28 

STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN

12 SAFETY 

12.1 Intended Use 

The machine must only be used for its intended purpose! Any other use is deemed to be a case of 
misuse. The machine is used for drilling in wood, plastic and metal. 

To use the machine properly you must also observe and follow all safety regulations, the 
assembly instructions, operating and maintenance instructions lay down in this manual. 

All people who use and service the machine have to be acquainted with this manual and must be 
informed about the machine's potential hazards. 

It is also imperative to observe the accident prevention regulations in force in your area. 

The same applies for the general rules of occupational health and safety. 

Any manipulation of the machine or its parts is a misuse, in this case HOLZMANN-Machines and 
its sales partners cannot be made liable for ANY direct or indirect damage. 

Even when the machine is used as prescribed it is still impossible to eliminate certain residual risk 
factors. 

WARNING

 Use only drills allowable for this machine!

 Never use a damaged drill!

 Use the machine never with defective or without mounted guard

HIGHEST RISK OF INJURY!

12.1.1 Ambient conditions 

The machine may be operated: 

humidity max. 70% 

temperature +5°С to +40°С (+41°F to +104°F) 

The machine shall not be operated outdoors or in wet or damp areas. 

The machine shall not be operated in areas exposed to increased fire or explosion hazard. 

12.1.2 Prohibited use 

 The operation of the machine outside the stated technical limits described in this manual is

forbidden.

 Operation of the machine function without emergency stop button or impeller box with

open doors is prohibited.

 The use of the machine not according with the required dimensions is forbidden.

 The use of the machine not being suitable for the use of the machine and not being

certified is forbidden.

 Any manipulation of the machine and parts is forbidden.

 The use of the machine for any purposes other than described in 12.1 is forbidden.

 The unattended operation on the machine during the working process is forbidden! It is

not allowed to leave the immediate work area during the work is being performed.



SAFETY 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 29 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

12.2 Security instructions 

Missing or non-readable security stickers have to be replaced immediately! 

To avoid malfunction, machine defects and injuries, read the following security instructions! 

The locally applicable laws and regulations may specify the minimum age of the operator and limit 
the use of this machine! 

 

 

NOTICE 
 

In the following machine this guards are in effect: 

 Emergency button on the control panel 

 Shutdown when opening the motor pulley cover 

 

 
 

 

 

 Keep your work area dry and tidy! An untidy work area may cause 
accidents. Avoid slippery floor. 

 Make sure the work area is lighted sufficiently 

 Do not overload the machine 

 Provide good stability and keep balance all times 

 Avoid abnormal working postures! Make sure you stand squarely 
and keep balance at all times.  

 Keep away from the running drill!  

 Always stay focused when working. Reduce distortion sources in 
your working environment. The operation of the machine when 
being tired, as well as under the influence of alcohol, drugs or 
concentration influencing medicaments is forbidden. 

 
 

 
 Do not climb onto the machine! 

 Attach the machine to the underground 

 
 

 

 

 Respectively trained persons only and only one person shall 
operate the machine.  

 Do not allow other persons, particularly children, to touch the 
machine or the cable. Keep them away from your work area. 

 Make your workshop childproof. 

 Make sure there is nobody present in the dangerous area. The 
minimum safety distance is 2m 

 
 

 

 

 Wear suitable work clothes! Do not wear loose 

clothing or jewellery as they might get caught in 
moving parts and cause severe accidents! Wear a 
hair net if you have long hair. 
 

 

 
 

 Use personal safety equipment: ear protectors and safety 
goggles when working with the machine.  

  

 



SAFETY 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 30 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

 

 

 

 Never leave the machine running unattended! Before leaving 
the working area switch the machine off and wait until the 
machine stops. 

 Always disconnect the machine prior to any actions 
performed at the machine. 

 Avoid unintentional starting 

 Do not use the machine with damaged switch 
 

 
 

 

  

 The plug of an electrical tool must strictly correspond to the 
socket. Do not use any adapters together with earthed electric 
tools 

 Each time you work with an electrically operated machine, caution 
is advised! There is a risk of electric shock, fire, cutting injury; 

 Protect the machine from dampness (causing a short circuit) 

 Use power tools and machines never in the vicinity of flammable 
liquids and gases (danger of explosion) 

 Check the cable regularly for damage 

 When working with the machine outdoors, use extension cables 
suitable for outoor use 

 Do not use the cable to carry the machine or to fix the work piece 

 Protect the cable from heat, oil and sharp edges 

 Avoid body contact with earthed 

 

 

 

 Before starting the machine remove any adjusting wrenches and 
screwdrivers 

 Use a clip or clamping jaws to secure the workpiece 

 Do not fix the workpice with your hands 

 Rotating parts can cause severe cut injuries 

 Keep the drills sharp and clean, so they get stuck less often and 
are easier to guide 

 Keep any machine that is not being used out of reach of children 

 
 

 

 

 

 

NOTICE 
 

Emergency procedure 

A first aid kit in accordance with DIN 13164 should always be readily 
available for a possible accident. Initiate the violation in accordance with 
the necessary first aid measures. When requesting support, provide the 
following details: 

 

 

1. Place of accident  

 

2. Type of accident  
 

3. Number of injured persons 

 

4. Injury type(s) 

 



SAFETY 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 31 

STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN

12.3 Remaining risk factors 

WARNING

It is important to ensure that each machine has remaining risks. 
In the execution of all work (even the simplest) greatest 
attention is required. A safe working depends on you! 

Even if the machine is used as required it is still impossible to eliminate certain residual risk 
factors totally. The following hazards may arise in connection with the machine´s construction 
and design: 

Despite of correct and proper use and maintenance there remain some residual risk factors: 

 Hazard of injury or machine damage due to undetected machine defect

To minimize this risk, check the machine prior to every operation for loose screws and

connections. Check the motor noise, the spindle, the drill chuck, etc. for eventual dam-

age. Damaged parts have to be replaced immediately, no operation of the machine in the

meantime!

 Hazard of electric shock

Undetected malfunctions in the power supply and/or the connected wood working machine

might result in electric shock when touching the machine. Ensure proper electric

installation, and let it check periodically by a trained electrician.

 Danger due to unintended machine start-up

Eliminate this risk by disconnecting the machine before you perform any checks or

activities on the machine.

 Hazard of inhaling toxic dust

Especially wood dust arising from chemically treated wood and/or lacquer/paint are harm-

ful when inhaled. Therefore wear a suitable breathing mask if required.

These risk factors can be minimized through obeying all security and operation instructions, proper 
machine maintenance, proficient and appropriate operation by persons with technical knowledge and 
experience. 



ASSEMBLY 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 32 

STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN

13 ASSEMBLY 

13.1 Preparatory activities 

13.1.1 Delivery content 

Please check the product contents (see capture 
11.1) immediately after receipt for any eventual 
transport damage or missing parts. Claims from 
transport damage or missing parts must be 
placed immediately after initial machine receipt 
and unpacking before putting the machine into 
operation. Please understand that later claims 
cannot be accepted anymore. 

13.1.2 Workplace requirements 

The workplace has to fulfill the requirements 
stated in capture 12.  
The ground has to be even, in level and hard. It must be suitable at least to weight it with double 
weight per square meter than the machines net weight.  
The chosen workplace must have access to a suitable electric supply net hat complies with the 
machines requirements. 

13.1.3 Transport 

The machine can be transported in package with a forklift. 

The machine is very heavy. The machine shall be lifted from crate with a suitable lifting device 
only that is certified to be able to carry the machines load. 

WARNING

The lifting and transportation of the machine must only be 
carried out by qualified staff and must be carried out with 
appropriate equipment. 

Note that lifting equipment used (crane, forklift, sling, etc.) must be in perfect condition. 

To maneuver the machine in the packaging can also a pallet jack or a forklift be used. 

13.1.4 Preperation of the surface 

Uncoated metal machine parts have been insulated with a greasy layer to inhibit corrosion. 

This layer has to be removed. You can use standard solvents that do not damage the machine 
surface.  

NOTICE

Do not use solvents based on nitrite, aggressive solvents like break 
cleaners or scrubbing agents! 

These damage the machine surface. 



ASSEMBLY 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 33 

STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN

13.2 Assembly 

The machine is delivered pre-assembled.  

For transport reasons some components can be assembled by the customer (symbol-sketch). 

Fix the base through the four provided 
borings to the underground. 

Fix the columns shoulder with hex bolts (3) 

to the base (1). 

Put the Column (4) into the table bracket. 

Apply the rack (2) to the column shoulder. 

Push the table bracket onto the rack (2) / 

column (4). So that the handle (8) 

mechanism is on the right side. 

Insert the rack (3) end into the column 

shoulder; pull the rack ring onto the 

column (4) so that it fixes the upper side of 

the rack. Fix the rack holder with the 

setscrew (7). 

Now assemble the table assembly to the 

table bracket (5). 

With the help of a second person, put the 

drill assembly onto the column (4). Fix it 

with hex screws. 

Mount the three handles (6) to the handle 

body. 

Finally check the evenness of 90° of gear 
assembly to base. 



ASSEMBLY 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 34 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

13.3 Power supply 

 

 

ATTENTION 
 

When working with non-grounded machines:  

Severe injury or even death may arise though electrocution! 

Therefore: The machine must be operated at a grounded power socket 

 

The connection of the machine to the electric power supply and the following checks have to be 

carried out by a respectively trained electrician only.  

1. The electronic connection of the machine is designated for operation with a grounded 

power socket!  

2. The connector plug may not be manipulated. 

3. he mains supply must be secured with 16A: 

4. If the connector plug doesn’t fit or if it is defect, only qualified electricians may modify or 

re-new it!  

5. The grounding wire should be held in green-yellow.  

6. A damaged cable has to be exchanged immediately!  

7. Check, whether the feeding voltage and the Hz comply to the required values of the ma-
chine. A deviation of feeding voltage of ±5% is allowed (e.g.: a machine with working 
voltage of 380V can work within a voltage bandwidth of 370 till 400V. 

8. Make sure that a possible extension cord is in good condition and suitable for the 
transmission of power. An undersized cord reduces the transmission of power and heats 
up. 

9. A damaged cable must be replaced immediately 

 
 

 

NOTICE  
 

Operation is only allowed with safety switch against 

stray current (RCD max. stray current of 30mA) 

 



OPERATION 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 35 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

14 OPERATION 

Device to be operated in a perfect state only. Inspect the device visually every time it is to be 
used. Check in particular the safety equipment, electrical controls, electric cables and screwed 
connection for damage and if tightened properly. Replace any damaged parts before operating 
the device. 

14.1 Operation instructions 

 

 

 WARNING  
 

Perform all machine settings with the machine being 
disconnected from the power supply! 

 
 

 ATTENTION 
 

Do not attempt to drill material with the surface other than flat 
unless a suitable support is available! 

Never switch the machine on while pressing the drill bit against the 
material! 

 

 

NOTICE 
 

 Before switching the machine on, make sure that the table-
clamping lever is firmly tightened 

 Make sure that the bit is firmly clamped in the chuck 

 Due to the height of its own weight is the fixation of the drill 
press to the ground requirement for less-vibration work. 

 Before switching the machine on, make sure that the chuck 
key is removed 

 Use a clip or clamping jaws to secure the piece to be drilled on 
the table 

 Set the drill to speed answering a specific job 

 Check the V-belts and tighten if necessary 

 In advanced wear of, replace V-belt 

 V-belts and pulleys may not come into contact with grease, oil 
or other lubricants 

 Loosen the V-belt for a long break 

 

After drilling movement the sleeve up to the highest position to turn back by hand. Not simply 
leaving out the rotating lever. In order to protect the return spring and a long life. You can modify 
the tension of the return spring by removing the cover and move the spiral spring. The coil spring 
is located on the rotary lever, on the opposite side of the machine. 



OPERATION 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 36 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

14.2 Adjustment 

MT2 arbor and drill chuck need to be clean.  

Plunge the chuck jaws of the drill chuck entirely. 

 

 

Connect the arbour and drill chuck with care!  

Fix it by softly knocking on it with a wooden or rubber hammer (never use a metal hammer). 

 

 

 

 

Now insert the combo into the spindle and twist until it 

clicks.  

Fix it by softly knocking on it with a wooden or rubber 
hammer. 

 

 

 

 

 

 

 

You can remove 
the combo with 
the morse 
shank puller. 

 

 

 

 



OPERATION 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 37 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

14.3 Operation 

With the ON/OFF / EMERGENCY unit, the machine is switched on and off. For this, the 
EMERGENCY-STOP-cap must be unlocked. Note: Press the switch only after you have chosen the 
direction of rotation and spindle speed. 

14.3.1 Spindle speed 

The exact cutting speeds are given in the specifications of the drill manufacturers. Basically the 
following rule of thumb applies: 

 
 

HINWEIS 
 

As smaller the hole, as higher the rotation speed. 

To achieve a good result is also: 

 Soft material => high rotation speed 

 Hard material => low rotation speed 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 Loosen screw  

 Open the pulley cover   

 Loosen on both sides the black slide bar bolts   

 Loosen the belt with the shift bar.  

 Now change the belts  

 Tighten the belts with shift bar and fix the position by tightening both bar bolts   

 Close the pulley cover completely and tighten screw.  

 Now apply in the middle between the two pulleys with your index finger and thumb 

pressure onto the belts. If approx. 1cm tension is correct.  

 

 

     V-belt 



OPERATION 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 38 

STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN

14.3.2 Table 

Loosen clamp bolt (12). Now you can adjust the table in 
height by turning the handle (13). Fix the table with clamp 
bolt (12) in the chosen position. 

To tilt of the operating table, loosen the screw (hexagon or 
quick release on the bottom of the table) and adjust by 
using the angle scale on the desired inclination. Fix it again 
in the selected position. 

14.3.3 Boring depth 

For example: 

 Clamp a drill into the drill chuck.

 Loosen the depth scale.

 Now put the workpiece onto the table, turn the table upwards until the drill touches the

workpiece.

 Adjust the depth scale to zero.

 Now turn the handle, until the scale reaches indicates the boring depth required. Bring the

drill back into upper position

 Now tighten it.

 The boring depth is now limited to the depth chosen.

You can adjust the depth also with an own method. 



MAINTENANCE 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 39 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

15 MAINTENANCE 

 

 ATTENTION 
 

Don’t clean or do maintenance on the machine while it is still connected 
to the power supply:  

Damages to machine and injuries might occur due to unintended 
switching on of the machine!  

Therefore: Switch the machine off and disconnect it from the power 
supply be-fore any maintenance works or cleaning is carried out 

The machine does not require extensive maintenance. If malfunctions and defects occur, let it be 
serviced by trained persons only. 

Before first operation as well as later on every 100 operation hours you should lubricate all con-
necting parts (if required, remove beforehand with a brush all swarfs and dust). 

Check regularly the condition of the security stickers. Replace them if required. 

Check regularly the condition of the saw band and the saw band guide.  

The good condition and perfect adjustment of the guiding rollers is essential for a smooth band 
guidance and a clean cut. 

Store the machine in a closed, dry location. 

NOTICE 

Clean your machine regularly after every usage – it prolongs the machines lifespan and is a 
pre-requisite for a safe working environment. 

Repair jobs shall be performed by respectively trained professionals only! 

15.1 Maintenance plan 

After each workshift: 

 Apply a thin layer of oil on the column and the table 

 Remove drill cuttings and metal chips from the device 

After 50 hours of operation 

 Apply some fat on the angle drift 

15.2 Cleaning 

After each workshift the machine has to be cleaned. Remove chips etc. with a suitable tool. Do 
not remove them by hand (cutting injury!). Remove dust as well. 

 

NOTICE 
 

The usage of certain solutions containing ingredients damaging metal 
surfaces as well as the use of scrubbing agents will damage the machine 
surface! 

Clean the machine surface with a wet cloth soaked in a mild solution 

15.3 Disposal 

Do not dispose the machine in residual waste. Contact your local authorities for 
information regarding the available disposal options. When you buy at your local 
dealer for a replacement unit, the latter is obliged to exchange your old. 



TROUBLE SHOOTING 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 40 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

16 TROUBLE SHOOTING 

BEFORE YOU START WORKING FOR THE ELIMINATION OF DEFECTS, DISCONNECT THE 
MACHINE FROM THE POWER SUPPLY. 

 

 

Fehler Mögliche Ursache Behebung 

Motor does not run  Incorrect power supply Let it be checked by a trained 
person 

 Switch defect Change 

 Motor defect Change 

 Safety switch activated Check the cover of motor pulley 
(open?). 

Loud noice when running  Incorrect belt tension Adjust belt tension (1cm rule) 

Drill runs erratically  Drill chuck not assembled 
correctly to arbour or one of them 
is dirty 

Check and adjust. 

 Drill chuck jaws worn or damaged Change drill chucj 

 Spindle or boring is worn Check and replace if nesessary 

Drill is hot and smokes 

 

 Too fast speed for material being 
drilled 

Reduce speed 

use lubricants 

Motor runs but no rotation 
or weak drilling power 

 Belt tension too low 

 Pulley belt diry, slippery 

Tighten 

Clean 

 

MANY POTENTIAL SOURCES OF ERROR CAN BE CLEARED BY THE EXPERTLY 
CONNECTION TO THE ELECTRICITY GRID. 

 



ERSATZTEILE / SPARE PARTS 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 41 

STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN

17 ERSATZTEILE / SPARE PARTS 

17.1 Ersatzteilbestellung / spare parts order 

Mit Holzmann-Ersatzteilen verwenden Sie Ersatzteile, die ideal aufeinander abgestimmt sind. 
Die optimale Passgenauigkeit der Teile verkürzen die Einbauzeiten und erhalten die 
Lebensdauer. 

HINWEIS

Der Einbau von anderen als Originalersatzteilen führt zum Verlust der Garantie! 

Daher gilt: Beim Tausch von Komponenten/Teilen nur Originalersatzteile verwenden 

Beim Bestellen von Ersatzteilen verwenden Sie bitte das Serviceformular, das Sie am Ende 
dieser Anleitung finden. Geben Sie stets Maschinetype, Ersatzteilnummer sowie Bezeichnung 
an. Um Missverständnissen vorzubeugen, empfehlen wir mit der Ersatzteilbestellung eine Kopie 
der Ersatzteilzeichnung beizulegen, auf der die benötigten Ersatzteile eindeutig markiert sind. 

Bestelladresse sehen Sie unter Kundendienstadressen im Vorwort dieser Dokumentation. 

With original Holzmann spare parts you use parts that are attuned to each other shorten the 
installation time and elongate your products lifespan. 

IMPORTANT

The installation of other than original spare parts voids the warranty! 

So you always have to use original spare parts 

When you place a spare parts order please use the service formular you can find in the last 
chapter of this manual. Always take a note of the machine type, spare parts number and 
partname. We recommend to copy the spare parts diagram and mark the spare part you need. 

You find the order address in the preface of this operation manual. 



ERSATZTEILE / SPARE PARTS 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 42 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

17.2 SB4115H 

 



ERSATZTEILE / SPARE PARTS 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 43 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

 

No. Specification Qty No. Specification Qty 

1 Base 1 34 Spring Washer 2 

2 Column Shoulder 1 35 Nut 2 

3 Bolt 4 36 Motor 1 

4  1 37 Bolt 4 

5 Rack 1 38 Washer 4 

6 Screw 1 39 Nut 4 

7 Rack Ring 1 40 V-Belt 1 

8 Bolt 1 41 Motor Pulley 1 

9 Washer 1 42 Screw 1 

10 Table ArmBracket 1 43 Center Shaft 1 

11 Locking Handle 1 44 Center Pulley 1 

12 Table Bracket 1 45 Ring 1 

13 Screw 1 46 Bearing 1 

14 Turning Handle 1 47 Ring 1 

15 Shaft 1 48 Washer 5 

16 Locking Handle 1 49 Screw 4 

17 Gear 1 50 Nut 2 

18 Locking Handle 2 51 Micro Switch 1 

19 Table 4 52 Screw 1 

20 Body 1 53 Micro Wire 1 

21 Scale Ring 1 54 Screw 1 

22 Feed Shaft 1 55 Washer 1 

23 Adjusting Handle 1 56 V-Belt 1 

24 Feed Shasft Base 1 57 Screw 1 

25 Pin 1 58 Wire-Clamp 2 

26 Handle 3 59 Bush 2 

27 Knob 3 60 Pulley-Cover 1 

28 Screw 1 61 Nut 2 

29 Pin 2 62 Nut 2 

30 Screw 2 63 Spring Seat 1 

31 Adjusting Handle 2 64 Spring Torsion 1 

32 Adjusting Axle 2 65 Screw 1 

33 Motor Base 2 66 Nut 1 

 

 



ERSATZTEILE / SPARE PARTS 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 44 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

67 Spindle Pulley 1 78 Rubber Washer 1 

68 Drive Sleeve 1 79 Spindle Sleve 1 

69 Bearing 2 80 Bearing 1 

70 Retain Ring 1 81 Spindle 1 

71 Ring  1 82 Arbor 1 

72 Switch Box 1 83 Chuck 1 

73 Screw 2 84 Chuck Guard 1 

74 Switch 1 85 Plug 1 

75 Screw 4 86 Chuck Key 1 

76 Ring 1 87 Wrench / 88 Wrench 1 

77 Bearing 1 89 Wedge 2 

 

 



ERSATZTEILE / SPARE PARTS 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 45 

STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN

17.3 SB 4115N 

No. Specification No. Specification 

1 Ring retaining 10 Screw set M6x1.0-10 

2 Bearing ball 17mm 11 Pulley motor 

3 Spacer bearing 12 Knob 

4 V-Belt M19/M20 13 Screw-pan HD M5x0.8-12 

5 Nut-pulley 14 Pivot idler 

6 Pulley spindle 15 Pulley center 

7 Insert-pulley 16 Bearing ball 15mm 

8 Guard-pulley w/labels 18 Washer foam 

9 Screw HD washer M6x1.0-16 19 Lock washer ext.M6 



ERSATZTEILE / SPARE PARTS 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 46 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

 

No. Specification Qty No. Specification Qty 

1 Head w/Pointer & Trim 1 20 Connector-Wire 1 

2 Motor 1 21 Lockwasher-Ext.5mm 1 

3 Nut Hex M8 1 22 Screw-Pan HD M5x0.8-8 1 

4 Washer M8x16x1.6 1 23 Screw-Pan HD M5x0.8-12 1 

5 Cord-Motor 1 24 Switch-Locking 1 

6 Nut Hex M10 1 25 Key-Switch 1 

7 Lockwasher M10 1 26 Screw-Self Tap.Pan HD M4.2x1.4 1 

8 Bracket-Motor 1 27 Cover-Switch Plate 1 

9 Screw-Hex HD M8x1.25-20 1 28 Box-Switch 1 

10 Support-Motor Bracket 1 29 Screw-Spec.Set M8x1.25x18 1 

11 Pin-Roll 6x16 1 30 Seat-Spring 1 

12 Knob-Motor Adjusting 1 31 Nut-Hex M12x1.5-8 1 

13 Screw-Hex Soc.Set M8x1.25-8 1 32 Cap-Spring 1 

14 Lock-Depth Screw 1 33 Spring-Torsion 1 

15 Ring-Depth Stop w/Scale 1 34 Retainer-Spring 1 

16 Knob 1 35 Cord-Power 1 

17 Rod 1 36 Hex „L“-Wrench 3mm 1 

18 Hub-Pinion 1 37 Hex „L“-Wrench 4mm 1 

19 Pin-Stop 1    



ERSATZTEILE / SPARE PARTS 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 47 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

 
 

 

 

No. Specification Qty No. Specification Qty 

1 Tube-Column 1 9 Table 1 

2 Rack 1 10 Support-Table w/Scale 1 

3 Support-Column 1 11 Clamp-Table 1 

4 Base 1 12 Gear-Helical 1 

5 Screw-Hex HD M8x1.25-20 1 13 Worm-Elevation 1 

6 Crank 1 14 Collar-Rack 1 

7 Shaft-Gear 1 15 Screw-Hex Soc.Set M6x1.0-10 1 

8 Screw-Hex HD M12x1.75-22 1   1 



ERSATZTEILE / SPARE PARTS 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 48 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

17.4 SB4116HM, SB4116HN 

 

No. Specification No. Specification 

1 Screw-Hex soc set M6x1.0-10 11 Suppport column 

2 Collar rack 12 Screw hex HD M10x1.5-40 

3 Gear-helical 13 Screw hex soc set M10x1.5-12 

4 Crank 14 Tube column 

6 Table 15 Rack 

7 Clamp table 16 Clamb column 

8 Screw hex HD M16x20-35 17 Support table w/indicator 

9 Arm-table w/scale 18 Worm elevation 

10 Base 19 Pin gear 

 



ERSATZTEILE / SPARE PARTS 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 49 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

 
 

No. Specification No. Specification 

1 Nut-lock 7 Key-chuck 

2 Ring-locking 8 Chuck 

3 Washer 9 Arbor 

4 Bearing ball 12mm 10 Key-drift 

5 Washer rubber 11 Spindle 

6 Tube-quill 12 Bearing ball 

 

 



ERSATZTEILE / SPARE PARTS 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 50 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

 
 

 

No. Specification No. Specification 

1 Ring retaining 10 Screw set M8x1.25-12 

2 Bearing ball 17mm 11 Pulley motor 

3 Spacer bearing 12 Knob 

4 V-Belt M24 13 Screw-pan HD M5x0.8-12 

5 Nut-pulley 14 Pivot idler 

6 Pulley spindle 15 Pulley center 

7 Insert-pulley 16 Bearing ball 15mm 

8 Guard-pulley w/labels 18 Washer foam 

9 Screw HD washer M6x1.0-16 19 Lock washer ext.M6 

 



ERSATZTEILE / SPARE PARTS 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 51 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



ERSATZTEILE / SPARE PARTS 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 52 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

 

No. Specification No. Specification 

1 Knob-motor adjusting 23 Seat spring 

2 Screw-socket set am10x1.5-12 24 Retainer spring 

3 Handle-belt tension 25 Spring torsion 

4 Pin-stop 26 Cap spring 

5 Ring- Depth stop w/scale 27 Nut-hex M12x1.5-8 

6 Lock- Depth screw 28 Head w/pointer and trim 

7 Hub 32 Tee wire 

8 Guide scale 33 Cord Power w/plug 

9 Knob 36 Clamp cord 

10 Rod 37 Support motor bracket 

11 Lock washer ext. M5 38 Screw hex HD M8x1.25-20 

12 Screw pan HD M5x0.8-8 39 Washer 8x16x1.6 

13 Box switch 40 Mount motor 

14 Screw pan HD M5x0.8-12 41 Cord motor 

15 Switch locking 42 Nut hex M8x1.25 

16 Screw pan HD M4.2x1.4-8 43 Motor 

18 Key switch 44 Nut hex M12x1.75 

19 Cover switch plate 45 Lockwasher ½ 

20 Lead Asm. 3 46 Support motor bracket 

21 Screw ser special 10x1.5-27 47 Screw Hex HD M8x1.25-18 

22 Nut hex M10x1.5 48 Lever adjusting 

 

 



KONFORMITÄTSERKLÄRUNG/CERTIFICATE OF CONFORMITY 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 53 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

18 KONFORMITÄTSERKLÄRUNG/CERTIFICATE OF 
CONFORMITY 

 

 

I n v e r k e h r b r i n g e r  /  D i s t r i b u t o r  
HOLZMANN MASCHINEN® GmbH 

A-4170 Haslach, Marktplatz 4 

Tel.: +43/7289/71562-0; Fax.: +43/7289/71562-4 

www.holzmann-maschinen.at 
 

Bezeichnung / name 

 Ständerbohrmaschine / drill press 

Typ / model 

 SB4115H / SB4115N / SB4116HM / SB4116HN 

EG-Richtlinien / EC-directives 

  2006/42/EG 

 2006/95/EG 

Angewandte Normen / applicable Standards 

  EN 61029-1/A11:2010 

 EN 61029-2-5:2011 

 

Hiermit erklären wir, dass die oben genannten Maschinen aufgrund ihrer Bauart in der von uns in Verkehr 
gebrachten Version den grundlegenden Sicherheits- und Gesundheitsanforderungen der angeführten EG-
Richtlinien entsprechen. Diese Erklärung verliert ihre Gültigkeit, wenn Veränderungen an der Maschine 
vorgenommen werden, die nicht mit uns abgestimmt wurden. 

 

Hereby we declare that the above mentioned machines meet the essential safety and health requirements of 
the above stated EC directives. Any manipulation or change of the machine not being explicitly authorized by 
us in advance renders this document null and void. 

 

 

 

 

 

 

Haslach, 22.09.2013 

Ort / Datum place/date 

 

   

Christian Eckerstorfer 

Techn. Dokumentation / techn. documentation 

HOLZMANN-MASCHINEN 

4170 Haslach, Marktplatz 4 

 

 Klaus Schörgenhuber 

Geschäftsführer / Director 



GUARANTEE TERMS 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 55 

STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN

20 GUARANTEE TERMS 

(applicable from 22.09.2013) 

Please consult our troubleshooting section for initial problem solving. Feel free to contact your HOLZMANN reseller or us 

for Customer Support! 

Warranty claims based on your sales contract with your HOLZMANN retailer, including your statutory rights, shall not be 

affected by this guarantee declaration. HOLZMANN-MASCHINEN grants guarantee according to following conditions: 

A) The guarantee covers the correction of deficiencies to the tool/product, at no charge, if it can be verified adequately

that the deficiencies were caused by a material or manufacturing fault. 

B) The guarantee period lasts 12 months, and is reduced to 6 months for tools in commercial use. The guarantee period

begins from the time the new tool is purchased from the first end user. The starting date is the date on the original 

delivery receipt, or the sales receipt in the case of pickup by the customer. 

C) Please lodge your guarantee claims to your HOLZMANN reseller you acquired the claimed tool from with following

information: 

>> Original Sales receipt and/or delivery receipt 

>> Service form (see next page) filed, with a sufficient deficiency report 

>> for spare part claims: a copy of the respective exploded drawing with the required spare parts being marked clear and 

unmistakable. 

D) The Guarantee handling procedure and place of fulfillment is determined according to HOLZMANNs sole discretion in

accordance with the HOLZMANN retail partner. If there is no additional Service contract made including on-site service, 

the place of fulfillment is principally the HOLZMANN Service Center in Haslach, Austria. 

Transport charges for sending to and from our Service Center are not covered in this guarantee. 

E) The Guarantee does not cover:

- Wear and tear parts like belts, provided tools etc., except to initial damage which has to be claimed immediately after 

receipt and initial check of the product. 

- Defects in the tool caused by non-compliance with the operating instructions, improper assembly, insufficient power 

supply, improper use, abnormal environmental conditions, inappropriate operating conditions, overload or insufficient 

servicing or maintenance. 

- Damages being the causal effect of performed manipulations, changes, additions made to the product. 

- Defects caused by using accessories, components or spare parts other than original HOLZMANN spare parts. 

- Slight deviations from the specified quality or slight appearance changes that do not affect functionality or value of the 

tool. 

- Defects resulting from a commercial use of tools that - based on their construction and power output - are not designed 

and built to be used within the frame of industrial/commercial continuous load. 

F) Claims other than the right to correction of faults in the tool named in these guarantee conditions are not covered by

our guarantee. 

G) This guarantee is voluntary. Therefore Services provided under guarantee do not lengthen or renew the guarantee

period for the tool or the replaced part. 

SERVICE 

After Guarantee and warranty expiration specialist repair shops can perform maintenance and repair jobs. But we are still 

at your service as well with spare parts and/or product service. Place your spare part / repair service cost inquiry by filing 

the SERVICE form on the following page and send it: 

via Mail to info@holzmann-maschinen.at 

or via Fax to: +43 7289 71562 4 



PRODUKTBEOBACHTUNG 

HOLZMANN MASCHINEN Austria   www.holzmann-maschinen.at Seite 56 

 STÄNDERBOHRMASCHINE / DRILL PRESS    SB4115H/SB4115N/SB4116HM/SB4116HN 

 

 

Meine Beobachtungen / My experiences: 

 

 

 

 

 

 

 

N a m e  /  n a m e :  

P r o d u k t  /  p r o d u c t :  

K a u f d a t u m  /  p u r c h a s e  d a t e :  

E r w o r b e n  v o n  /  p u r c h a s e d  f r o m :  

E - M a i l /  e - m a i l :  

 

V i e l e n  D a n k  f ü r  I h r e  M i t a r b e i t !  /  T h a n k  y o u  f o r  y o u r  k i n d  c o o p e r a t i o n !  
 

 

KONTAKTADRESSE / CONTACT: 

HOLZMANN MASCHINEN GmbH 

4170 Haslach, Marktplatz 4 AUSTRIA 

Tel : +43 7289 71562 0 

Fax: +43 7289 71562 4 

info@holzmann-maschinen.at 

21 PRODUKTBEOBACHTUNG PRODUCT EXPERIENCE FORM 

Wir beobachten unsere Produkte auch nach 
der Auslieferung. 

We observe the quality of our delivered products 

in the frame of a Quality Management policy. 

Um einen ständigen Verbesserungsprozess 
gewährleisten zu können, sind wir von Ihnen 
und Ihren Eindrücken beim Umgang mit 
unseren Produkten abhängig: 

Your opinion is essential for further product 

development and product choice. Please let us 

know about your: 

 

- Probleme, die beim Gebrauch des 
Produktes auftreten 

- Impressions and suggestions for 

improvement. 

- Fehlfunktionen, die in bestimmten 
Betriebssituationen auftreten 

- experiences that may be useful for other 
users and for product design 

- Erfahrungen, die für andere Benutzer 
wichtig sein können 

- Experiences with malfunctions that occur in 

specific operation modes 

Wir bitten Sie, derartige Beobachtungen zu 
notieren und an diese per E-Mail, Fax oder 
Post an uns zu senden: 

We would like to ask you to note down your 

experiences and observations and send them to 

us via FAX, E-Mail or by post: 




